A SR = — = N O [ ACSL A (4 4 g
S 4 FEREET 7 7 v F—FRSstEENEER
SHMb5E3 831 HE®E
(B4 1)
& B LY F E B O£ E pr: B
I BEDE
1. REVERE
5é 92.186 102.908 A 10722
EEEe 3722180 4577133 A 854,953
P 530,000 0 530,000
HEEEA 4344366 4,680,041 A 335675
BEA 4344366 4,680,041 A 335675
I &aENE
1. REVEE
*ihé 17.419 17.419
REAEBEA 17,419 17,419
2. ARk
aEAst 17.419 0 17.419
I IERKREAEEDER
1. e EIERREAEE
€ IERBAPEA 5T 0 0 0
0. — PR ERKEAEE 4326947 4,680,041 A 353,094
EBEAL 4326947 4,680,041 A 353,094
BERUEREEAS 4344366 4,680,041 A 335675




